ENTURA IS A BUSINESS OF HYDRO-ELECTRIC CORPORATION ABN 48 072 377 158

690 REF.

- - 10 PL 100x8 EA i PL <>
@ NEAR 608)FAR @ KI5
10-M16x40 ‘*'M16X‘*5\ (M I
; o \1 / & ’ o et M@ | M@
TN ~ TN |
I T 7 E— 12 PL
- * KEN 4-M16x35 -
¢¢ VIEW ON SUSPENSION
@ B FAN \ ASSEMBLY ATTACHMENT
- IS EA i 2-HM16x55 s S\ PUNCH/DRILL 2-@13.5 PLATE .
S o EXISTING MEMBERS scale 110
@ u / / \ \_ TO MATCH 2 HOLES OF #A608
= / / \ \\
> / // \\ \ M
75x8 EA T S o y B
= / N\ / \
= = S Vo 7/ N\ oo o
i < Y, O y 6-M12x40 N T R
= > /o N\ 7/ (2 HOLES EXISTING) '\
D 16 PL < @ l N i N {%
= = /) AR 65x5 EA v CN 65x5 EA |
< O o \ 7/ \ O\
< a / / \\ | - CoN VIEW ON MAINTENANCE/
- = /o o\ )/ \ \ SERVICE ATTACHMENT
E 5 /// / \ N 7 // \\ \\\\\ PLATE
(V] 7/ / \ W\ —
7y = N 74 / \ \\ scale 1:10
- & R = i L
z 2 S IS N / LN
i & /ST N - AN s N ]
E // // \§§ \::\\\ \\ \\ /
= /) NN oo - ; |
> , , \‘\ \\\\\ N / \
VHOHCER SN N HXKEA / |
// / \\\\\15\\ \\\ \ / \
/ / \§\ \\\\\\ \ \\ // \\
/ // \§§ \\:\\ ' \ / \
// / \§\ \::\\ \\ \\ // \\
c // // \§§ \::\\\\\ \\ \\ // \\
/ / S NI Vo / \
// // \§§ \::\\\ \ // \\
/ // \§§ \::\\ \\ / \
// // \§§ \\:\&
/ / \§ \
/ / *\ // \\
/ 33 : L-M16xL0 330 THIS MEMBER TO BE FITTED
// Y 176 EA ~ (USE EXISTING HOLES) 176 EA ON TOP OF #601. 602
O ! O
o | LONGITUDINAL ELEVATION ‘ J/
o L SCALE 1:5
L VIEW /A
8 SCALE 15 \_~_/
TRANSVERSE ELEVATION
NOTES
1. ALL DIMENSIONS ARE SHOWN IN MILLIMETERS UNO.
~ 2. NORMAL GRADE GALVANIZED TOWERS 7
STEEL PLATE, FLATS & HOT ROLLED SECTIONS TO BE GRADE 300 TO AS/NZS3678 AND AS/NZS3679.1 AS APPLICABLE UNO. STRUCTURAL STEEL HOLLOW SECTIONS TO BE GRADE (350 TO AS1163.
3.  WELDS TO BE FULL STRENGTH BUTT WELDS TO AS/NZS1554 CATEGORY SP. UND. LEGEND:
L. DETAILS REQUIREMENTS FOR NEW HOLES IN EXISTING MEMBERS AND HOLES IN NEW ANGLE MEMBERS IN ACCORDANCE WITH AS3995 Fig. 3.5.4.6. MINIMUM EDGE DISTANCES IN PLATES TO AS4100 Table 9.6.2.
5. NORMAL GRADE GALVANIZED NEW/UPGRADED MEMBERS 1(;0 5|0 (I) 1(io 2(|)0 300|mm
ALL NEW ITEMS, EXCLUDING FASTENERS, TO BE GALVANIZED TO ASL680 AFTER FABRICATION. DAMAGE TO GALVANIZES COATING WHETHER BY CUTTING, PUNCHING OR OTHER MEANS TO BE REPAIRED IN ALLLALLLL o
. ACCORDANCE WITH ASL680 APPENDIX 'E' OR BY THE APPLICATION OF 2 COATS OF 'ZINGA' IN ACCORDANCE WITH THE SPECIFICATION. @ EXISTING MEMBERS |
6.  BOLTS NUTS & WASHERS TO AS/NZS1559, TOWER BOLTS WITH 1 WASHER (UNO), FASTENERS SHALL BE GALVANIZED. REFER. SPECIFICATION FOR THREAD DEFORMATION PROCEDURE.
7. IF_APPLICABLE M12x35 Lg. BOLTS WITH 2 WASHERS UNDER THE NUT TO BE USED FOR CLAMPING LENGTHS LESS THAN 11mm. MEMBER No. BOLT LIST (Lengfh in mm)
(SIMILARLY M16x35 Lg.TO HAVE 2 WASHERS WHEN LESS THAN 7mm.) TOWER No. | A600| A601]|A602 | A603 | A604 | A605 | A606 | A607 | A608 | A609 |M12x40 | M16x40 M16x45 M16x50 | M16x60
8.  MEMBER NUMBER TO BE STAMPED ON THE TOP OF INCLINED MEMBERS & RIGHT HAND END OF HORIZONTAL MEMBERS BUT BEFORE GALVANIZING IF_APPLICABLE. s T T T -1 - T T -T2 -1T-7T: - - . -
9.  ITEMS SHALL TRIAL ASSEMBLED WHERE POSSIBLE, PRIOR TO PRODUCTION FABRICATION IN ACCORDANCE WITH SP CONSTRUCTION REQUIREMENTS. - 7 R N PR R Ei i e i - - - - n
1 , 2 , 3 , L , 5 , 6 , 7 , 8
f%Em REFERENCES DRAWN wevr: SOLOMON POWER ENGAGEMENT No:
" =E2E e O nt urd LUNGGA-HONIARA
= ' Z_EFg DESIGNED
NOT FOR CONSTRUCTION s<hoe WE OWN. WE OPERATE. WE CONSULT.
2 INFORMATION ONLY 33kV TRANSMISSION LINE
% PRINT DATE:  24/11/2019 10:00:46 PM %gég APPROVED 89 C?_r::rrr:(;l%ieaP?:l;g)rXLeJ,STgZTIt;\rldge, SUSPENSION OPGW ATTACHMENT _
< P Ph: 03 6245 4500 Fax: 03 6245 4550 ARRANGEMENT A1
Soiy Sl www.entura.com.au ORG o SHT. REV.
Qgg DATE © COPYRIGHT 2019 SP_LH_AS_OOS 001 O

FILENAME:

\\HYDROTASMANIAN\CONSULT$\PROJECT\CONSULTDM\E307XXX\E3077XX\E307765\P515731\OPGW ATTACHMENT - ARRANGEMENT.DWG




